[ Efficiency vs vertpos |
~ 0.0]

$.009
)
9.008
(&)
$.007
_U
.006
0.005
0.004
0.003
0.002
0.001]

Ratio

bt
D
[Efficiend —
Efficienq —— D§

~ 0.01
Rt AR S T R
%] o . . . . .
U Rt S L S
& E : : : : :
D.007F---- RECEREEL SRELERE Frrrrnedeseeees e
S E : : : :
.00+ -oieee e
o o : : : .
0.005F------ Fresmeeedeeeees Frerenedeeeeees e
0-0042— """ e S LR e
0008 b
S S
7Y SO S T ——
o QEerbea i i
g F : : : : :
o r : H H . .
0.5 ----+- AERRRRESSARY RN Foerereedeeeeees e
93520 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0

2086 4 2 0 2 4 6 8§ 10
Sim. PV z (cm)




	Contents
	Page 1


